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Thus from a point charge q we have an electric field magnitude         E = kq/r2 ( point charge).

Set up and evaluate an integral for the electric field at point p from the

rod of length L, with total charge Q. The charge per unit length ( is equal to Q/L.
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Try selecting a charge (q located at a distance x from the left edge of the rod, and a distance d+L-x from point p.  Then (Eat p = k (q/r2 .  You have to get the integral in terms of x only, changing around whatever you need to.  Then integrate.

(see back for one more)

Find the electric field at point p from
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a charge Q spread uniforml over a semi-

circle of radius R.
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In what direction will the electric field point?

Why isn't Eat p = kQ/R2 ?

The charge per unit length is ( = Q/((R).

Along the circumference (s = R ((.

You should wind up with an integral in ( which won't be hard to integrate.

